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T T 4 |t % 7 7 P WY T 4 | AR 7 7 = HTOT 4 |t H K 7 7 = BT T 4 | A 7 7 =
B & 17T H 261 273 294 567 | WEHET5 T H 540 555 539 1,094 (% BT 7 T H 1, 265 1, 546 1, 409 2,955 |f ARHET3T H 224 259 219 478
B & 2T H 361 348 367 715|F » #EET6 T H 385 382 412 794(%r BT 8 T H 549 649 641 1,290 |/ | 4,701 5, 052 5,081 10,133
B B 3T H 290 330 315 645 B 9,637 10,053 9,870 19,923|% BT 9 T H 1,327 1, 367 1,127 2,494| " {RE1T H 94 99 93 192
PR 1T H 148 146 138 284 |1k e 597 647 653 1,300|>R K BT 1T H 113 97 103 200 (22T H 330 368 367 735
Wy ET2 T H 105 90 85 175|% L BT 1T H 346 404 386 790|>R JKET2 T H 521 553 528 1,08l | —{#E3T H 285 307 318 625
RT3 T H 135 152 173 325|8F L ET2 T H 645 665 679 1, 344 B 9,572 10, 654 9,760 20,414| _{RE4T H 126 114 125 239
£ L HT 277 247 267 514|% L ET3 T H 1,585 1, 469 1,418 2,887 (L ET1T H 812 825 844 1,669| {57 H 91 106 98 204
PN HT 445 425 426 851|8 L HET 4 T H 807 792 770 1,562({ 0BT 2T H 310 348 314 662|3R # 1T H 87 69 73 142
fef T 210 199 197 396|k M 1 T H 826 922 859 1,781 |0 BT 3 T H 240 258 258 516|iR # 2 T H 113 119 117 236
i g 126 104 116 2200k M 2 T H 341 400 408 808 |y L BT 4 T H 764 692 686 1,378|iIR # 3T H 120 117 103 220
#* T W 176 205 195 4001k M 3 T H 739 845 888 1, 733|{RI 0BT 5T H 749 719 719 1,438 |1 & A M 159 144 162 306
= 15 Wy 418 402 433 835 (5 LS 464 433 529 962|{ W ET 6 T H 1,232 1,242 1, 258 2,500 /% 1 T H 50 40 39 79
K 4 WE HT 500 518 519 1,037 | & 152 475 538 533 1,071 ({0 BT 7T H 1,146 1,037 1,115 2,152 &% 2 T H 67 63 59 122
W o, Lk my 311 285 289 574K B F 17T H 276 318 311 629 |37 2 BT 8 T H 826 853 742 1,59 | & Il 41 58 67 125
K OB HT 504 503 507 1,010| A8 F 2T H 272 342 333 675 L HT9 T H 971 818 920 1, 738 |/ | 1,563 1, 604 1, 621 3,225
HEfiE1T B 207 193 203 396|145 F 1 T H 619 829 806 1,635 ({0 ET10 T H 966 801 773 Lb74|E M 1T B 304 226 248 474
HfoE2T B 253 253 266 519|4 F 2 T H 147 203 200 403 B 8,016 7,593 7,629| 15,222|% @ 2 T H 85 89 82 171
HEfiE3T B 312 369 357 726|145 F 3 T H 386 514 442 956|fE 1 1 T H 186 190 203 393|'E M 3T H 191 153 135 288
£t 5, 039 5, 042 5,147 10,189|4 ¥ 4 T H 620 749 710 1,459|fE 16 2 T H 1, 054 1,263 1, 200 & BN R 99 99 100 199
B AHE 1T H 237 270 262 532|145 F 5 T H 539 648 683 1,331 1% 3 T H 376 401 418 819[/NE& AR2T H 44 48 50 98
By AHET2T H 364 374 362 736 # 9,684 10,718 10,608 21,3264 F#H 1 T H 1,392 1,436 1, 469 2,905|/h& K3 T H 171 183 191 374
B AHT3 T H 211 241 258 49| E 1T B 493 421 497 918(4 # 2 T H 1,070 1,077 1,131 2,208(/N& A4T H 212 151 211 362
EWM1TH 720 670 680 1,350| HF HE2T B 830 764 792 1,556|4 # 3 T H 873 948 909 LS50 NPT 74 76 83 159
Ei2TH 738 812 810 1,622|% F # 3 T H 1,126 1, 080 1,093 2,17314 # 4 T B 0 0 0 O[E R 1T H 260 177 219 396
EW3TH 402 480 462 942\ HF M4 T H 787 666 667 1,333(4 # 5 T H 170 52 142 1942 R 2 T H 246 266 245 511
Ei4TH 794 787 870 1,657 |% % #5 T H 1, 047 942 1,014 1, 956 B 5, 121 5, 367 5,472 10,839|E R 3 T H 225 164 201 365
EWM5T H 526 504 534 1,038 |% HF 6 T H 400 433 386 819/ 2 55,078| 56,971 56,229 113,200/ E 1,911 1, 632 1,765 3, 397
E e T H 219 214 236 450|148 » 1T B 401 397 409 806[M F 1 T H 345 395 349 T44|pk R 1T H 206 161 211 372
EWM7T H 497 497 421 918|#1 » i 2 T H 757 610 738 L348|M0 # 2 T H 402 424 434 858|pk A 2T H 215 212 159 371
E 8T H 288 309 294 603 |Kfi ] BT 1 T H 343 397 377 T4l 3 T H 447 490 483 973|pk A3 T H 100 110 106 216
EW9TH 4 4 4 8|h [ BT 2 T H 767 835 825 1,660|(fn HET 1T H 210 232 223 455(p% A 4 T H 56 49 50 99
KHE1TH 310 312 305 617 R ] BT 3 T H 609 596 548 1,144|f0 HET2 T H 291 294 314 608|p A5 T H 79 70 68 138
KHEE2TH 326 303 287 590 |Fifi [ BT 4 T H 449 403 397 800|#E 4% 1 T H 181 225 215 40| A6 T H 35 41 35 76
KHEE3T H 338 379 354 733 B 8, 009 7, 544 7,743 15,287 |#8 4 2 T H 203 214 249 463|5% A7 T H 64 69 66 135
KHEE4T H 311 366 354 720(% BT 1 T H 1,230 1,374 1,332 2,706k 4% 3 T H 187 209 204 413|5% A8 T H 90 102 76 178
K HEEST H 318 355 348 7038 BT 2 T H 878 982 859 1,841 | %5 4 T H 231 259 251 510 /) & 845 814 771 1,585
T WERTLT H 647 670 683 1,353|% BT 3 T H 1, 564 1,621 1, 480 3,101|ke 45 5 T H 536 603 649 1,252 BE AT & 7 9, 020 9, 102 9,238( 18,340
T WEHT2 T H 556 575 571 1,146 |5 BT 4 T H 737 772 774 1,546 | %5 6 T H 563 642 573 1, 2154 3t 64,098 66,073 65,467 131, 540
T WERT3 T H 429 509 417 9263 BT 5 T H 1, 289 1, 569 1,393 2,962 |l AR HT 1T H 363 401 394 795
T WEHTAT H 4717 485 407 8923 WY 6 T H 99 124 114 238t AR ET 2 T H 518 405 524 929




